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Exercise 77

For the following exercises, use the vertex of the graph of the quadratic function and the direction
the graph opens to find the domain and range of the function.

Vertex (—5,11), opens down.

Solution

One possible quadratic function with this vertex and orientation is shown below.

10+

y=—@x+52+11

Any z-value can be plugged into a quadratic function, so the domain is
{z ] —o0 <z < o0}
The function has no lowest value, and the highest value it has is 11. Therefore, the range is

{y| —co<y <11}
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